

Home Search Collections Journals About Contact us My IOPscience

New tripartite entangled state generated by an asymmetric beam splitter and a parametric down-conversion amplifier

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2006 J. Phys. A: Math. Gen. 39 14133 (http://iopscience.iop.org/0305-4470/39/45/021) View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.108 The article was downloaded on 03/06/2010 at 04:56

Please note that terms and conditions apply.

J. Phys. A: Math. Gen. 39 (2006) 14133-14142

doi:10.1088/0305-4470/39/45/021

New tripartite entangled state generated by an asymmetric beam splitter and a parametric down-conversion amplifier

Li-yun Hu¹ and Hong-yi Fan^{1,2}

 ¹ Department of Physics, Shanghai Jiao Tong University, Shanghai, 200030, People's Republic of China
 ² CCAST (World Laboratory), PO Box 8730, Beijing 100080, People's Republic of China

Received 1 July 2006, in final form 31 August 2006 Published 24 October 2006 Online at stacks.iop.org/JPhysA/39/14133

Abstract

In three-mode Fock space we construct a new tripartite entangled state $|\alpha, \gamma\rangle_{\theta\lambda}$ which makes up a new quantum mechanical representation. The state $|\alpha, \gamma\rangle_{\theta\lambda}$ can be generated by using the set-up composed of an asymmetric beam splitter and a parametric down-conversion amplifier. We then show how to use $|\alpha, \gamma\rangle_{\theta\lambda}$ to find new squeezing operator and new squeezed state.

PACS numbers: 03.67.-a, 03.65.Bz, 42.50.Dv

1. Introduction

The concept of quantum entanglement is increasingly of interest in studies of quantum information and quantum communication. It was originated by Einstein, Podolsky and Rosen (EPR) in a paper arguing the incompleteness of quantum mechanics [1] and has played a key role in understanding some fundamental problems in quantum mechanics and quantum optics [2–7]. A beam splitter is perhaps the simplest tool to produce quantum entanglement. It is known that even one single-mode squeezed state incident on a beam splitter yields a bipartite entangled state [8]. In [9], Braunstein and Loock pointed out that continuous-variable quantum teleportation of arbitrary coherent states has been realized experimentally with bipartite entanglement built from two single-mode squeezed vacuum states combined at a beam splitter whose role is expressed by the operator B [6]. They also asserted that a sequence of beam splitter operations,

$$B_{N-1,N}(\pi/4)B_{N-2,N-1}(\cos^{-1}1/\sqrt{3})\times\cdots\times B_{1,2}(\cos^{-1}1/\sqrt{N}),$$
(1)

applied to one momentum squeezed vacuum mode 1 and N - 1 position squeezed vacuum modes 2 through N, yields an N-mode state with N-party entanglement between all modes. They obtained the entangled N-mode state $\int dx | x, x, ..., x \rangle$. This state is an eigenstate with total momentum zero and all relative positions $X_i - X_j = 0$ (i, j = 1, 2, ..., N) [10].

0305-4470/06/4514133+10\$30.00 © 2006 IOP Publishing Ltd Printed in the UK 14133

All these references exhibit the role of the beam splitter in generating entanglement and entangled states. Meanwhile we know that a two-mode squeezed state (made of idler light and signal light) generated by parametric down-conversion process simultaneously is a two-mode entangled state in the frequency domain. It is natural to think if we combine the mechanism of both beam splitter (especially an asymmetric beam splitter) and parametric down conversion, then what kind of entangled states can be generated? We are motivated to construct an entangled state generated by an asymmetric beam splitter and a parametric down-conversion amplifier. On the other hand, we hope the newly explored entangled states could be qualified to make up a new quantum mechanical representation, so we need the explicit form of this kind of entangled states in Fock space. As Dirac pointed out in [11]: 'When one has a particular problem to work out in quantum mechanics, one can minimize the labor by using a representation in which the representatives of the more important abstract quantities occurring in that problem are as simple as possible', we believe that entangled state representations will be useful not only in treating many problems in quantum optics, but also can open up (explore) new research topics. In EPR's pioneer argument, the entanglement was due to the fact that two particles' relative positions $X_1 - X_2$ and their total momentum $P_1 + P_2$ can be simultaneously measured. Enlightened by EPR, in [12] the simultaneous eigenstate $|\eta\rangle$ of commutative operators $(X_1 - X_2, P_1 + P_2)$ in two-mode Fock space is found:

$$|\eta\rangle = \exp\left[-\frac{1}{2}|\eta|^2 + \eta a_1^{\dagger} - \eta^* a_2^{\dagger} + a_1^{\dagger} a_2^{\dagger}\right]|00\rangle_{12},\tag{2}$$

where $\eta = (\eta_1 + i\eta_2)/\sqrt{2}$, $|00\rangle_{12}$ is the vacuum state, (a_i, a_i^{\dagger}) , i = 1, 2, are the Bose annihilation and creation operators, related to X_i and P_i by $X_i = \frac{1}{\sqrt{2}}(a_i + a_i^{\dagger})$, $P_i = \frac{1}{\sqrt{2i}}(a_i - a_i^{\dagger})$. Experimentally, the $|\eta\rangle$ state can be generated as follows [13–16]: when a pair of incoming modes—one is the zero-momentum eigenstate $|p = 0\rangle_1 \sim \exp(\frac{1}{2}a_1^{\dagger 2})|0\rangle_1$ (maximum squeezing in the *p*-direction) and the other is the zero-position eigenstate $|x = 0\rangle_2 \sim \exp(-\frac{1}{2}a_2^{\dagger 2})|0\rangle_2$ (maximum squeezing in the *x*-direction)—impinge on a symmetric 50:50 beam splitter (without loss and phase shift), the outgoing state is a bipartite entangled state, i.e.,

$$\exp\left[-\frac{\pi}{4}\left(a_{1}^{\dagger}a_{2}-a_{2}^{\dagger}a_{1}\right)\right]|p=0\rangle_{1}\otimes|x=0\rangle_{2}=\exp\left[a_{1}^{\dagger}a_{2}^{\dagger}\right]|00\rangle.$$
(3)

Then making a local oscillator displacement $D(\eta) = \exp \left[\eta a_1^{\dagger} - \eta^* a_1\right]$ for $\exp \left[a_1^{\dagger} a_2^{\dagger}\right]|00\rangle$, the state $|\eta\rangle$ is obtained. However, when the beam splitter is not a 50:50 one, but an asymmetric one, then what is the output state when two light fields maximally squeezed in X_i and P_i , respectively, entering its two input ports and get superimposed? According to [17], the output state emerging from asymmetric beam splitter is defined by

$$\begin{aligned} |\eta\rangle_{\theta} &= \exp\left[-\frac{1}{2}|\eta|^{2} + \eta a_{1}^{\dagger} - \eta^{*}\left(a_{2}^{\dagger}\sin 2\theta + a_{1}^{\dagger}\cos 2\theta\right) + \frac{1}{2}\eta^{*2}\cos 2\theta \\ &+ \frac{1}{2}\left(a_{1}^{\dagger 2} - a_{2}^{\dagger 2}\right)\cos 2\theta + a_{2}^{\dagger}a_{1}^{\dagger}\sin 2\theta\right]|00\rangle, \end{aligned}$$
(4)

where θ is related to the amplitude reflectivity and transmissivity of the asymmetric beam splitter, and a local oscillator displacement is also made. Clearly, when $\theta = \pi/4$, $|\eta\rangle_{\theta}$ reduces to $|\eta\rangle$. It is remarkable that $|\eta\rangle_{\theta}$ makes up a new complete set and is of importance from the quantum mechanics representation theory.

A question thus naturally arises: can we extend $|\eta\rangle_{\theta}$ state to the tripartite case in a direct way so that a new kind of tripartite entangled states of continuum variables can be constructed? The answer is affirmative. Our work is arranged as follows. In section 2, we briefly review the main properties of $|\eta\rangle_{\theta}$. In section 3, we introduce the new tripartite entangled state $|\alpha, \gamma\rangle_{\theta\lambda}$ which is the common eigenvector of three commutable operators, with λ being a squeezing parameter. In section 4, we discuss how to generate $|\alpha, \gamma\rangle_{\theta\lambda}$ by an asymmetric beam splitter and parametric down-conversion amplifier. In section 5, we investigate its properties, especially its completeness, partly non-orthogonal property and its Schmidt decomposition. In section 6, we show how to apply $|\alpha, \gamma\rangle_{\theta\lambda}$ to deriving new squeezing operator and generalized squeezed state.

2. The bipartite entangled state $|\eta\rangle_{\theta}$

We begin with briefly reviewing the properties of two-mode entangled state $|\eta\rangle_{\theta}$. $|\eta\rangle_{\theta}$ is the common eigenvector of commutative operators: $(X_2 - X_1 \tan \theta)$ and $(P_1 + P_2 \tan \theta)$, i.e.,

$$(X_2 - X_1 \tan \theta) |\eta\rangle_{\theta} = -\eta_1 \tan \theta |\eta\rangle_{\theta}, \tag{5}$$

$$(P_1 + P_2 \tan \theta) |\eta\rangle_{\theta} = \eta_2 \tan \theta |\eta\rangle_{\theta}.$$
 (6)

This simultaneous measurement of $(X_2 - X_1 \tan \theta)$ and $(P_1 + P_2 \tan \theta)$ with accuracy is allowed by quantum mechanics and can be visualized in a generalized eight-port interferometer measurement [18].

Using the normal ordering form of $|00\rangle\langle 00| =: \exp\{-a_1^{\dagger}a_1 - a_2^{\dagger}a_2\}$: and the technique of integration within an ordered product (IWOP) of operators [19, 20] we can smoothly prove the completeness relation

$$\sin 2\theta \int \frac{\mathrm{d}^2 \eta}{\pi} |\eta\rangle_{\theta\theta} \langle \eta| = 1,\tag{7}$$

so $|\eta\rangle_{\theta}$ make up a complete set. The overlap of $|\eta\rangle_{\theta}$ is

$${}_{\theta}\langle \eta'|\eta\rangle_{\theta} = 2\pi\delta(\eta_1 - \eta_1')\delta(\eta_2 - \eta_2')/\sin 2\theta, \qquad \eta = (\eta_1 + i\eta_2)/\sqrt{2}.$$
(8)

According to Dirac's representation theory in quantum mechanics, the set of $|\eta\rangle_{\theta}$ makes up a new orthogonal and complete representation in the two-mode Fock space. The state $|\eta\rangle_{\theta}$ can be generated by an asymmetric beam splitter: operating the asymmetric beam splitter operator

$$S_2 = \exp\left[-\theta \left(a_1^{\dagger} a_2 - a_2^{\dagger} a_1\right)\right] \tag{9}$$

on a pair of incoming modes $|p = 0\rangle_1 \otimes |x = 0\rangle_2$, we have

$$S_{2}|p = 0\rangle_{1} \otimes |x = 0\rangle_{2} \sim \exp\left[\frac{1}{2}(a_{1}^{\dagger}\cos\theta + a_{2}^{\dagger}\sin\theta)^{2} - \frac{1}{2}(a_{2}^{\dagger}\cos\theta - a_{1}^{\dagger}\sin\theta)^{2}\right] \\ \times \exp\left[2\theta(a_{2}^{\dagger}a_{1} - a_{1}^{\dagger}a_{2})\right]|00\rangle \\ = \exp\left[a_{1}^{\dagger}a_{2}^{\dagger}\sin2\theta + \frac{1}{2}(a_{1}^{\dagger2} - a_{2}^{\dagger2})\cos2\theta\right]|00\rangle = |\eta = 0\rangle_{\theta}.$$
(10)

Then operating the displacement operator $D_1(\eta) \equiv \exp\left[\eta a_1^{\dagger} - \eta^* a_1\right]$ on equation (10) leads to equation (4), i.e.,

$$D_{1}(\eta) \exp\left[a_{1}^{\dagger}a_{2}^{\dagger}\sin 2\theta + \frac{1}{2}\left(a_{1}^{\dagger 2} - a_{2}^{\dagger 2}\right)\cos 2\theta\right]|00\rangle = |\eta\rangle_{\theta}.$$
 (11)

Experimentally, this displacement can be implemented by reflecting the light field of $|\eta = 0\rangle_{\theta}$ from a partially reflecting mirror (say 99% reflection and 1% transmission) and adding through the mirror a field that has been phase and amplitude modulated according to the value $\eta \equiv |\eta| e^{i\varphi}$.

3. The new tripartite entangled state

We now introduce a new kind of three-mode entangled state in Fock space

$$|\alpha, \gamma\rangle_{\theta,\lambda} = \sec h\lambda \exp\left\{-\frac{1}{2}|\alpha|^2 - \frac{1}{2}|\gamma|^2 + \frac{1}{2}\alpha^{*2}\cos 2\theta + a_1^{\dagger}(\alpha - \alpha^*\cos 2\theta) - a_2^{\dagger}(\alpha^*\sec h\lambda\sin 2\theta + \gamma^*\tanh\lambda) + \gamma a_3^{\dagger} + a_1^{\dagger}a_2^{\dagger}\sec h\lambda\sin 2\theta + a_2^{\dagger}a_3^{\dagger}\tanh\lambda + \frac{1}{2}(a_1^{\dagger 2} - a_2^{\dagger 2}\sec h^2\lambda)\cos 2\theta\right\}|000\rangle,$$
(12)

1

where $\alpha = \alpha_1 + i\alpha_2$, $\gamma = \gamma_1 + i\gamma_2$ are the two complex numbers, λ is a real number (later, one can see that it is a squeezing parameter characterizing a parametric down-conversion amplifier [21]). In particular, when $\lambda = 0$, sec $h\lambda = 1$ and $\tanh \lambda = 0$, then equation (12) reduces to

$$\begin{aligned} |\alpha, \gamma\rangle_{\theta,0} &= \exp\left\{-\frac{1}{2}|\alpha|^2 + \alpha a_1^{\dagger} - \alpha^* \left(a_1^{\dagger} \cos 2\theta + a_2^{\dagger} \sin 2\theta\right) + \frac{1}{2}\alpha^{*2} \cos 2\theta \\ &+ a_1^{\dagger} a_2^{\dagger} \sin 2\theta + \frac{1}{2} \left(a_1^{\dagger 2} - a_2^{\dagger 2}\right) \cos 2\theta\right\} \exp\left[-\frac{1}{2}|\gamma|^2 + \gamma a_3^{\dagger}\right]|000\rangle \\ &\equiv |\alpha\rangle_{\theta} \otimes |\gamma\rangle_{3}, \end{aligned}$$
(13)

where $|\alpha\rangle_{\theta}$ is the bipartite entangled state in a_1 - a_2 -mode (10) generated by an asymmetric beam splitter, while $|\gamma\rangle_3$ is the coherent state in a_3 -mode. On the other hand, when $\theta = \pi/4$, equation (12) becomes .

$$|\alpha, \gamma\rangle_{\frac{\pi}{4}, \lambda} = \sec h\lambda \exp\left\{-\frac{1}{2}(|\alpha|^2 + |\gamma|^2) + a_1^{\dagger}\alpha + \gamma a_3^{\dagger} + a_2^{\dagger}(a_1^{\dagger} - \alpha^*) \sec h\lambda + a_2^{\dagger}(a_3^{\dagger} - \gamma^*) \tanh \lambda\right\}|000\rangle,$$
(14)

this is a tripartite entangled state which can be generated by a symmetric beam splitter and parametric down-conversion amplifier. For a review of various applications of the entangled state representation of continuum variables we refer to [22]. Operating a_i on $|\alpha, \gamma\rangle_{\theta,\lambda}$ respectively yields

$$\left(a_{3}-a_{2}^{\dagger}\tanh\lambda\right)|\alpha,\gamma\rangle_{\theta\lambda}=\gamma|\alpha,\gamma\rangle_{\theta\lambda},\tag{15}$$

$$\left(a_1 - a_1^{\dagger}\cos 2\theta - a_2^{\dagger}\sec h\lambda\sin 2\theta\right)|\alpha,\gamma\rangle_{\theta\lambda} = (\alpha - \alpha^*\cos 2\theta)|\alpha,\gamma\rangle_{\theta\lambda},\tag{16}$$

$$(a_2 - a_1^{\dagger} \sec h\lambda \sin 2\theta + a_2^{\dagger} \sec h^2\lambda \cos 2\theta - a_3^{\dagger} \tanh \lambda) |\alpha, \gamma\rangle_{\theta\lambda}$$

= $-(\alpha^* \sec h\lambda \sin 2\theta + \gamma^* \tanh \lambda) |\alpha, \gamma\rangle_{\theta\lambda}.$ (17)

By combining equations (16) and (17) we see

$$(X_1 \tan\theta \sec h\lambda - X_2 + X_3 \tanh \lambda) |\alpha, \gamma\rangle_{\theta\lambda} = \sqrt{2} \tanh \lambda (\alpha_1 \tan\theta \csc h\lambda + \gamma_1) |\alpha, \gamma\rangle_{\theta\lambda}, \quad (18)$$

$$(P_1 \cot\theta \sec h\lambda + P_2 + P_3 \tanh \lambda) |\alpha, \gamma\rangle_{\theta\lambda} = \sqrt{2} \tanh \lambda (\alpha_2 \cot\theta \csc h\lambda + \gamma_2) |\alpha, \gamma\rangle_{\theta\lambda}.$$
(19)

Note that the three operators $(X_1 \tan \theta \sec h\lambda - X_2 + X_3 \tanh \lambda)$, $(P_1 \cot \theta \sec h\lambda + P_2 +$ $P_3 \tanh \lambda$) and $a_3 - a_2^{\mathsf{T}} \tanh \lambda$) make up a complete commutable operator set.

4. Implementation of $|\alpha, \gamma\rangle_{\theta\lambda}$

Supposing we have the two-mode asymmetric entangled state as in equation (10) and an extra vacuum state $|0\rangle_3$,

$$|\alpha = 0\rangle_{\theta} \equiv \exp\left[a_1^{\dagger}a_2^{\dagger}\sin 2\theta + \frac{1}{2}\left(a_1^{\dagger 2} - a_2^{\dagger 2}\right)\cos 2\theta\right]|00\rangle_{12} \otimes |0\rangle_{3}.$$
 (20)

On the basis of this state, we make the squeezing transformation [9]

$$S_{23}a_2^{\dagger}S_{23}^{-1} = a_2^{\dagger}\cosh\lambda - a_3\sinh\lambda,$$
 (21)

by the two-mode squeezing operator $S_{23} = \exp \left[\lambda \left(a_2^{\dagger} a_3^{\dagger} - a_2 a_3\right)\right]$, which means we let a_2^{\dagger} -mode and a_3^{\dagger} -mode interact in a parametric down-conversion amplifier via a nonlinear process, then we obtain

$$S_{23} \exp\left[a_1^{\dagger} a_2^{\dagger} \sin 2\theta + \frac{1}{2} \left(a_1^{\dagger 2} - a_2^{\dagger 2}\right) \cos 2\theta \right] |000\rangle$$

= $\operatorname{sec} h\lambda \exp\left[a_3^2 \mathfrak{A} + a_3 \mathfrak{B} + \mathfrak{C}\right] \exp\left[a_2^{\dagger} a_3^{\dagger} \tanh \lambda\right] |000\rangle,$ (22)

where

$$\mathfrak{A} \equiv -\frac{1}{2}\sinh^2\lambda\cos 2\theta,\tag{23}$$

$$\mathfrak{B} \equiv \left(a_2^{\dagger} \cosh \lambda \cos 2\theta - a_1^{\dagger} \sin 2\theta\right) \sinh \lambda, \tag{24}$$

$$\mathfrak{C} \equiv a_1^{\dagger} a_2^{\dagger} \cosh \lambda \sin 2\theta + \frac{1}{2} \left(a_1^{\dagger 2} - a_2^{\dagger 2} \cosh^2 \lambda \right) \cos 2\theta.$$
⁽²⁵⁾

Using the completeness relation of coherent state $\int \frac{d^2 z}{\pi} |z\rangle_{33} \langle z| = 1$ and the following formula

$$\int \frac{\mathrm{d}^2 z}{\pi} \exp[\zeta |z|^2 + \xi z + \eta z^* + f z^2 + g z^{*2}] = \frac{1}{\sqrt{\zeta^2 - 4fg}} \exp\left[\frac{-\zeta \xi \eta + \xi^2 g + \eta^2 f}{\zeta^2 - 4fg}\right], \quad (26)$$

whose convergent condition is either

$$\operatorname{Re}(\zeta + f + g) < 0, \qquad \operatorname{Re}\left(\frac{\zeta^2 - 4fg}{\zeta + f + g}\right) < 0, \tag{27}$$

or

$$\operatorname{Re}(\zeta - f - g) < 0, \qquad \operatorname{Re}\left(\frac{\zeta^2 - 4fg}{\zeta - f - g}\right) < 0,$$
 (28)

we have

$$\exp\left[a_{3}^{2}\mathfrak{A}+a_{3}\mathfrak{B}\right]\exp\left[a_{3}^{\dagger}a_{2}^{\dagger}\tanh\lambda\right] = \int \frac{\mathrm{d}^{2}z}{\pi}\exp\left[a_{3}^{2}\mathfrak{A}+a_{3}\mathfrak{B}\right]|z\rangle_{33}\langle z|\exp\left[a_{3}^{\dagger}a_{2}^{\dagger}\tanh\lambda\right]$$
$$= \int \frac{\mathrm{d}^{2}z}{\pi}:\exp\left[-|z|^{2}+z\left(\mathfrak{B}+a_{3}^{\dagger}\right)+z^{*}\left(a_{2}^{\dagger}\tanh\lambda+a_{3}\right)+z^{2}\mathfrak{A}-a_{3}^{\dagger}a_{3}\right]:$$
$$=:\exp\left[\left(\mathfrak{B}+a_{3}^{\dagger}\right)\left(a_{2}^{\dagger}\tanh\lambda+a_{3}\right)+\left(a_{2}^{\dagger}\tanh\lambda+a_{3}\right)^{2}\mathfrak{A}-a_{3}^{\dagger}a_{3}\right]:,\qquad(29)$$

and then substituting equation (29) into equation (22) we can rewrite equation (22) as

$$(22) \equiv \sec h\lambda \exp\left[\left(\mathfrak{B} + a_3^{\dagger}\right)a_2^{\dagger} \tanh \lambda + a_2^{\dagger 2}\mathfrak{A} \tanh^2 \lambda + \mathfrak{C}\right]|000\rangle$$

= $\sec h\lambda \exp\left[a_1^{\dagger}a_2^{\dagger} \sec h\lambda \sin 2\theta + a_2^{\dagger}a_3^{\dagger} \tanh \lambda + \frac{1}{2}\left(a_1^{\dagger 2} - a_2^{\dagger 2} \sec h^2\lambda\right)\cos 2\theta\right]|000\rangle$
= $|\alpha = 0, \gamma = 0\rangle_{\theta\lambda}.$ (30)

Then making a two-mode displacement $D_1(\alpha)D_3(\gamma)$ for $|\alpha = 0, \gamma = 0\rangle_{\theta\lambda}$ by two local oscillators, we make up the state $|\alpha, \gamma\rangle_{\theta\lambda}$,

$$D_1(\alpha)D_3(\gamma)|\alpha=0, \ \gamma=0\rangle_{\theta\lambda}=|\alpha,\gamma\rangle_{\theta\lambda}, \tag{31}$$

where $D_i(\alpha) = \exp \left[\alpha a_i^{\dagger} - \alpha^* a_i\right]$ and the relation $D_i(\alpha) a^{\dagger} D_i^{-1}(\alpha) = a_i^{\dagger} - \alpha^*$ is used. Thus, $|\alpha, \gamma\rangle_{\theta\lambda}$ can be generated by asymmetric beam splitter and parametric down-conversion amplifier.

5. Properties of $|\alpha, \gamma\rangle_{\theta\lambda}$

We now investigate the major properties of $|\alpha, \gamma\rangle_{\theta\lambda}$. We need to know what is the integration measure with which $|\alpha, \gamma\rangle_{\theta\lambda}$ can make up a complete set. Using the normally ordered form of the vacuum projection operator

$$|000\rangle\langle 000| =: \exp\left[-a_1^{\dagger}a_1 - a_2^{\dagger}a_2 - a_3^{\dagger}a_3\right]:,$$
 (32)

where the symbol : : denotes normal ordering, we can employ the IWOP technique and equation (26) to prove the completeness relation of $|\alpha, \gamma\rangle_{\theta\lambda}$,

$$\frac{\sin 2\theta}{\sec h^2 \lambda} \int \frac{d^2 \alpha \, d^2 \gamma}{\pi^2} |\alpha, \gamma\rangle_{\theta\lambda, \theta\lambda} \langle \alpha, \gamma| = \sin 2\theta \int \frac{d^2 \alpha \, d^2 \gamma}{\pi^2} :\exp[-|\gamma|^2 + \gamma \zeta + \gamma^* \zeta^{\dagger}] \\ \times \exp\left[-|\alpha|^2 + \alpha \xi + \alpha^* \xi^{\dagger} + \frac{1}{2}(\alpha^{*2} + \alpha^2) \cos 2\theta + \kappa\right] : \\ = :\exp\left[\zeta \zeta^{\dagger} + \frac{1}{\sin^2 2\theta} \left(\xi \xi^{\dagger} + \frac{\cos 2\theta}{2}(\xi^2 + \xi^{\dagger})\right) + \kappa\right] :=:\exp[0] := 1$$
(33)

where

$$\zeta \equiv a_3^{\dagger} - a_2 \tanh \lambda, \tag{34}$$

$$\xi \equiv a_1^{\dagger} - a_1 \cos 2\theta - a_2 \sec h\lambda \sin 2\theta, \tag{35}$$

$$\kappa \equiv (a_1^{\dagger} a_2^{\dagger} + a_1 a_2) \sec h\lambda \sin 2\theta + (a_2^{\dagger} a_3^{\dagger} + a_2 a_3) \tanh \lambda + \frac{1}{2} [a_1^{\dagger 2} + a_1^2 - (a_2^{\dagger 2} + a_2^2) \sec h^2 \lambda] \cos 2\theta - \sum_{i=1}^3 a_i^{\dagger} a_i.$$
(36)

Here, the factor $\sin 2\theta / \sec h^2 \lambda$ is integration measures needed for the completeness relation. It must be pointed out that the integration $d^2 \alpha d^2 \gamma$ is two fold in complex variables, not three fold, this is because the state $|\alpha, \gamma\rangle_{\theta\lambda}$ is entangled among three modes, which reduces the folds of integration. Thus, we note that although $|\alpha, \gamma\rangle_{\theta\lambda}$ is defined in three-mode Fock space, because its three modes are mutually entangled, it spans a completeness relation with two-fold complex integration measure. Furthermore, in order to examine if $|\alpha, \gamma\rangle_{\theta\lambda}$ constitutes an orthogonal set or not, using equations (18) and (19) we evaluate the following matrix elements in the $|\alpha, \gamma\rangle_{\theta\lambda}$ state:

$${}_{\theta\lambda}\langle \alpha', \gamma' | (X_1 \tan \theta \sec h\lambda - X_2 + X_3 \tanh \lambda) | \alpha, \gamma \rangle_{\theta\lambda}$$

$$= \sqrt{2} \tanh \lambda (\alpha_1 \tan \theta \csc h\lambda + \gamma_1)_{\theta\lambda} \langle \alpha', \gamma'. | \alpha, \gamma \rangle_{\theta\lambda}$$

$$= \sqrt{2} \tanh \lambda (\alpha'_1 \tan \theta \csc h\lambda + \gamma'_1)_{\theta\lambda} \langle \alpha', \gamma'. | \alpha, \gamma \rangle_{\theta\lambda},$$

$$(37)$$

 ${}_{\theta\lambda}\langle \alpha', \gamma' | (P_1 \cot \theta \sec h\lambda + P_2 + P_3 \tanh \lambda) | \alpha, \gamma \rangle_{\theta\lambda}$ $= \sqrt{2} \tanh \lambda (\alpha_2 \cot \theta \csc h\lambda + \gamma_2)_{\theta\lambda} \langle \alpha', \gamma'. | \alpha, \gamma \rangle_{\theta\lambda}$ $= \sqrt{2} \tanh \lambda (\alpha'_2 \cot \theta \csc h\lambda + \gamma'_2)_{\theta\lambda} \langle \alpha', \gamma'. | \alpha, \gamma \rangle_{\theta\lambda},$ (38)

which lead to

$$\sqrt{2} \tanh \lambda [(\alpha_1 - \alpha_1') \tan \theta \csc h\lambda + (\gamma_1 - \gamma_1')]_{\theta\lambda} \langle \alpha', \gamma'. | \alpha, \gamma \rangle_{\theta\lambda} = 0, \quad (39)$$

$$\sqrt{2} \tanh \lambda [(\alpha_2 - \alpha_2') \cot \theta \csc h\lambda + (\gamma_2 - \gamma_2')]_{\theta\lambda} \langle \alpha', \gamma'. | \alpha, \gamma \rangle_{\theta\lambda} = 0, \qquad (40)$$

New tripartite entangled state

thus we can see

$${}_{\theta\lambda}\langle \alpha', \gamma' | \alpha, \gamma \rangle_{\theta\lambda} \propto \frac{\coth^2 \lambda}{2} \delta[(\alpha_1 - \alpha_1') \tan \theta \csc h\lambda + \gamma_1 - \gamma_1'] \\ \times \delta[(\alpha_2 - \alpha_2') \cot \theta \csc h\lambda + \gamma_2 - \gamma_2'].$$
(41)

Equation (41) shows that the inner product of $|\alpha, \gamma\rangle_{\theta\lambda}$ involves two δ functions.

To explain in more detail why $|\alpha, \gamma\rangle_{\theta\lambda}$ is an entangled state, we make the following two-fold Fourier transformation:

$$\int_{-\infty}^{\infty} d\alpha_2 \, d\gamma_2 |\alpha, \gamma\rangle_{\theta\lambda} \, \mathrm{e}^{\mathrm{i}(u\alpha_2 + v\gamma_2)} = W(u, v, \alpha_1, \gamma_1) \left| \frac{1}{\sqrt{2}} (\alpha_1 - u) \right\rangle_1 \otimes \left| \frac{1}{\sqrt{2}} (-v + \gamma_1) \right\rangle_3$$
$$\otimes \left| -\frac{1}{\sqrt{2}} [(u + \alpha_1) \sec h\lambda \tan \theta + (v + \gamma_1) \tanh \lambda] \right\rangle_2, \tag{42}$$

where the three single-mode states all belong to the set of coordinate eigenvectors

$$|q\rangle_{i} = \pi^{-1/4} \exp\left[-\frac{1}{2}q^{2} + \sqrt{2}qa_{i}^{\dagger} - \frac{1}{2}a_{i}^{\dagger 2}\right]|0\rangle_{i},$$
(43)

and $W(u, v, \alpha_1, \gamma_1)$ is a normalization factor

$$W = \frac{\sqrt{2} \sec h\lambda}{\pi^{-7/4} \cos \theta} \exp\left[-\frac{1}{4} [(v+\gamma_1) \sec h\lambda - (u+\alpha_1) \tan \theta \tanh \lambda]^2\right].$$
(44)

Thus, the inverse transformation of equation (42) is

$$|\alpha, \gamma\rangle_{\theta\lambda} = \frac{1}{4\pi^2} \int_{-\infty}^{\infty} du \, dv \, W \, \mathrm{e}^{-\mathrm{i}(u\alpha_2 + v\gamma_2)} \left| \frac{1}{\sqrt{2}} (\alpha_1 - u) \right\rangle_1 \otimes \left| \frac{1}{\sqrt{2}} (\gamma_1 - v) \right\rangle_3$$
$$\otimes \left| -\frac{1}{\sqrt{2}} [(u + \alpha_1) \sec h\lambda \tan \theta + (v + \gamma_1) \tanh \lambda] \right\rangle_2. \tag{45}$$

This is just the Schmidt decomposition of $|\alpha, \gamma\rangle_{\theta\lambda}$, so $|\alpha, \gamma\rangle_{\theta\lambda}$ is an entangled state [23]. In momentum representation, the Schmidt decomposition of $|\alpha, \gamma\rangle_{\theta\lambda}$ can be expressed as

$$|\alpha, \gamma\rangle_{\theta\lambda} = \frac{1}{4\pi^2} \int_{-\infty}^{\infty} du \, dv \, W' \, \mathrm{e}^{-\mathrm{i}(u\alpha_1 + v\gamma_1)} \left| \frac{1}{\sqrt{2}} (u + \alpha_2) \right\rangle_1 \otimes \left| \frac{1}{\sqrt{2}} (v + \gamma_2) \right\rangle_3$$
$$\otimes \left| -\frac{1}{\sqrt{2}} [(u - \alpha_2) \operatorname{sec} h\lambda \cot \theta + (v - \gamma_2) \tanh \lambda] \right\rangle_2, \tag{46}$$

where the three single-mode states all belong to the set of momentum eigenvectors:

$$|p\rangle_{i} = \pi^{-1/4} \exp\left[-\frac{1}{2}p^{2} + \sqrt{2}ipa_{i}^{\dagger} + \frac{1}{2}a_{i}^{\dagger 2}\right]|0\rangle_{i},$$
(47)

and $W'(u, v, \alpha_2, \gamma_2)$ is a normalization factor:

$$W' = \frac{\sqrt{2}\operatorname{sec}h\lambda}{\pi^{-7/4}\sin\theta} \exp\left[-\frac{1}{4}\left[(v-\gamma_2)\operatorname{sec}h\lambda - (u-\alpha_2)\cot\theta\tanh\lambda\right]^2\right].$$
(48)

The quantification of multipartite entanglement, even for pure states, is still the subject of current research [10]. In general, multipartite inseparability criteria cannot be formulated in such a compact form as those for bipartite. In order to verify genuine *N*-party entanglement, one has to rule out any possible partially separable forms. In principle, this can be done by considering all possible bipartite splittings or groupings and, for instance, applying the negative partial transpose criterion [24]. In order to see the entanglement involved in $|\alpha, \gamma\rangle_{\theta\lambda}$

more clearly, by tracing out one party, the remaining two-party state is

$$\operatorname{Tr}_{1}|\alpha,\gamma\rangle_{\theta\lambda\theta\lambda}\langle\alpha,\gamma| = \int \frac{\mathrm{d}^{2}z}{\pi} \langle z|\alpha,\gamma\rangle_{\theta\lambda\theta\lambda}\langle\alpha,\gamma|z\rangle_{1}$$

$$= \frac{\operatorname{sec}h^{2}\lambda}{\sin 2\theta} : \exp\left[-|\gamma|^{2} + \left(a_{2}^{\dagger}a_{3}^{\dagger} + a_{2}a_{3} - \gamma^{*}a_{2}^{\dagger} - \gamma a_{2}\right)\tanh\lambda\right]$$

$$\times \exp\left[\gamma a_{3}^{\dagger} + \gamma^{*}a_{3} - a_{2}^{\dagger}a_{2}\tanh^{2}\lambda - a_{3}^{\dagger}a_{3}\right]: \qquad (49)$$

where we have inserted the completeness of coherent state $\int \frac{d^2z}{\pi} |z\rangle_{11} \langle z|$ and used equation (26). Observing equations (49) one can see that, after tracing out one party, a_2^{\dagger} -mode is coupled with a_3^{\dagger} -mode. In other words, the remaining two-mode fields are still in the bipartite entangled state. Tracing out another mode will yield a similar result.

6. Application of the $|\alpha, \gamma\rangle_{\theta\lambda}$ representation

As an application of the $|\alpha, \gamma\rangle_{\theta\lambda}$ representation, we build the following ket–bra operator in an integration form:

$$U_{\theta}(\sigma,\lambda) \equiv \frac{\sin 2\theta}{\sec h^2 \lambda} \int \frac{d^2 \alpha \, d^2 \gamma}{(\pi \mu)^2} |\alpha/\mu, \gamma/\mu\rangle_{\theta\lambda,\theta\lambda} \langle \alpha, \gamma|,$$
(50)

where $(\alpha, \gamma) \rightarrow (\alpha/\mu, \gamma/\mu)$ is a *c*-number dilation transformation. The meaning of discussing (50) lies in generating new squeezed state by an asymmetric beam splitter and parametric down-conversion amplifier. It should be pointed out that $U_{\theta}(\sigma, \lambda)$ is a new three-mode squeezing operator (for a review of squeezed states we refer to [25]). Using equation (12) and the IWOP technique we can directly perform the integral in equation (50):

$$\begin{aligned} U_{\theta}(\sigma,\lambda) &= \frac{2\mu}{\sqrt{K}} \sin 2\theta \sec h\sigma \exp\left[\left(\frac{1}{2} - \frac{2}{K}(\mu^{2} + 1 - \alpha^{*2} - \mu^{2}\alpha^{2}\cos^{2}2\theta)\right)a_{1}^{\dagger 2}\cos 2\theta\right] \\ &\times \exp\left[\left(1 + \frac{2}{K}(2\mu^{2}\alpha^{2}\cos^{2}2\theta - \mu^{2} - 1)\right)a_{1}^{\dagger}a_{2}^{\dagger}\sec h\lambda\sin 2\theta + a_{2}^{\dagger}a_{3}^{\dagger}\tanh\sigma\tanh\lambda\right] \\ &\times \exp\left[a_{2}^{\dagger 2}\left(\frac{2\mu^{2}\alpha^{2}}{K}\sin^{2}2\theta - \frac{1}{2}\right)\sec h^{2}\lambda\cos 2\theta\right]:\exp\left[-\left(a_{1}^{\dagger}a_{1} + a_{2}^{\dagger}a_{2} + a_{3}^{\dagger}a_{3}\right)\right] \\ &\times \exp\left[\frac{2\mu}{K}\left[(1 + \mu^{2})(1 + \cos^{2}2\theta) - 2\cos^{2}2\theta(\alpha^{*2} + \mu^{2}\alpha^{2})\right]a_{1}^{\dagger}a_{1}\right] \\ &\times \exp\left[\frac{\mu}{K}\left[(1 + \mu^{2} - 2\alpha^{*2})a_{1}^{\dagger}a_{2} + (1 + \mu^{2} - 2\mu^{2}\alpha^{2})a_{2}^{\dagger}a_{1}\right]\sec h\lambda\sin 4\theta\right] \\ &\times \exp\left[\frac{2\mu(1 + \mu^{2})}{K}a_{2}^{\dagger}a_{2}\sec h^{2}\lambda\sin^{2}2\theta + \left(a_{3}^{\dagger}a_{3} + a_{2}^{\dagger}a_{2}\tanh^{2}\lambda\right)\sec h\sigma\right]: \\ &\times \exp\left[\left(\frac{1}{2} - \frac{2\mu^{2}}{K}(1 + \mu^{2} - \mu^{2}\alpha^{2} - \alpha^{*2}\cos^{2}2\theta)\right)a_{1}^{2}\cos 2\theta\right] \\ &\times \exp\left[\left(\frac{2\mu^{2}\alpha^{*2}}{K}\sin^{2}2\theta - \frac{1}{2}\right)a_{2}^{2}\sec h^{2}\lambda\cos 2\theta - a_{2}a_{3}\tanh\sigma\tanh\lambda\right] \\ &\times \exp\left[a_{1}a_{2}\left(1 - \frac{2\mu^{2}}{K}(1 + \mu^{2} - 2\alpha^{*2}\cos^{2}2\theta)\right)\sec h\lambda\sin 2\theta\right], \end{aligned}$$

where we have set $\mu = e^{\sigma}$ and $K = 1 + \mu^4 - 2\mu^2 \cos 4\theta$. Especially, when $\theta = \pi/4$, equation (51) reduces to

$$U_{\theta=\frac{\pi}{4}} = \sec h^2 \sigma \exp\left[\left(a_1^{\dagger} a_2^{\dagger} \sec h\lambda + a_2^{\dagger} a_3^{\dagger} \tanh \lambda\right) \tanh \sigma\right] \exp\left[\left(a_1^{\dagger} a_1 + a_2^{\dagger} a_2 + a_3^{\dagger} a_3\right) \ln \sec h\sigma\right] \\ \times \exp\left[-\left(a_1 a_2 \sec h\lambda + a_2 a_3 \tanh \lambda\right) \tanh \sigma\right],$$
(52)

which is just a new three-mode squeezing operator. Using equation (52), we see

$$U_{\theta=\frac{\pi}{4}}a_{1}U_{\theta=\frac{\pi}{4}}^{-1} = a_{1}\cosh\sigma - a_{2}^{!}\operatorname{sec} h\lambda \sinh\sigma,$$

$$U_{\theta=\frac{\pi}{4}}a_{2}U_{\theta=\frac{\pi}{4}}^{-1} = a_{2}\cosh\sigma - (a_{1}^{\dagger}\operatorname{sec} h\lambda + a_{3}^{\dagger}\tanh\lambda)\sinh\sigma,$$

$$U_{\theta=\frac{\pi}{4}}a_{3}U_{\theta=\frac{\pi}{4}}^{-1} = a_{3}\cosh\sigma - a_{2}^{\dagger}\tanh\lambda\sinh\sigma.$$
(53)

By introducing the two quadratures

$$X = \frac{1}{\sqrt{2}} (X_1 \sec h\lambda - X_2 + X_3 \tanh \lambda), \tag{54}$$

$$P = \frac{1}{\sqrt{2}} (P_1 \sec h\lambda - P_2 + P_3 \tanh \lambda), \quad [X, P] = i,$$
(55)

we derive

$$U_{\theta=\frac{\pi}{4}}XU_{\theta=\frac{\pi}{4}}^{-1} = e^{\sigma}X, \qquad U_{\theta=\frac{\pi}{4}}PU_{\theta=\frac{\pi}{4}}^{-1} = e^{-\sigma}P,$$
(56)

which shows the standard squeezing for two mutually conjugate operators in an opposite way. Operating $U_{\theta=\frac{\pi}{4}}$ on the three-mode vacuum state $|000\rangle$, we have

$$U_{\theta=\frac{\pi}{4}}|000\rangle = \sec h^2 \sigma \exp\left[\left(a_1^{\dagger} a_2^{\dagger} \sec h\lambda + a_2^{\dagger} a_3^{\dagger} \tanh \lambda\right) \tanh \sigma\right]|000\rangle, \tag{57}$$

which is a new three-mode squeezed vacuum state. The quantum fluctuation of the operator quadratures in the state $U_{\theta=\frac{\pi}{4}}|000\rangle$ is

$$\langle (\Delta X)^2 \rangle = \frac{1}{2} e^{-2\sigma}, \qquad \langle (\Delta P)^2 \rangle = \frac{1}{2} e^{2\sigma}$$
 (58)

thus the minimum uncertainty relation still remains

$$\Delta X \Delta P \equiv \sqrt{\langle (\Delta X)^2 \rangle \langle (\Delta P)^2 \rangle} = \frac{1}{2}.$$
(59)

In summary, we have introduced a new tripartite entangled state $|\alpha, \gamma\rangle_{\partial\lambda}$ in three-mode Fock space. Such states are potentially useful, because they not only make up a complete representation [11], but also can be generated by an asymmetric beam splitter and parametric down-conversion amplifier. Using $|\alpha, \gamma\rangle_{\partial\lambda}$ we have derived new squeezing operator and squeezed state. Thus, we see again the intrinsic relation between entanglement and squeezed state.

Acknowledgment

This work is supported by the National Natural Science Foundation of China under Grant No 10475056. We sincerely thank the referee for his useful suggestion.

References

- [1] Einstein A, Podolsky B and Rosen N 1935 Phys. Rev. 47 777
- [2] For a review, see e.g., Macchiavello C, Palma G M and Zeilinger A (ed) 2001 Quantum Computation and Quantum Information Theory (Singapore: World Scientific)

- [3] Bennett C H, Brassard G, Crepeau C, Jozsa R, Peres A and Wooters W K 1993 Phys. Rev. Lett. 70 1895
- [4] Braunstein S L and Kimble H J 1998 Phys. Rev. Lett. 80 869 Zelinger A 1998 Phys. World 11 35
- [5] Bose S, Verdral V and Knight P L 1998 Phys. Rev. A 57 822 Milburn G J and Braunstein S L 1999 Phys. Rev. A 60 937 [6] Furusawa A et al 1998 Science 282 706
- Ekert A and Josza R 1996 Rev. Mod. Phys. 68 733 [7] Thapliyal A V 1999 Phys. Rev. A 59 3336
- Brassard G and Mor T 1999 Lect. Notes Comput. Sci. 1 1509 [8] Aharonov Y et al 1966 Ann. Phys. (NY) 39 498
- [9] Van Loock P and Braunstein S L 2000 Phys. Rev. Lett. 84 3482
- [10] Braunstein S L and Van Loock P 2005 Rev. Mod. Phys. 77 513
- [11] Dirac P A M 1958 The Principles of Quantum Mechanics 4th edn (Oxford: Oxford University Press)
- [12] Fan H-Y and Klauder J R 1994 Phys. Rev. A 49 704 Fan H-Y and Chen B-Z 1996 Phys. Rev. A 53 2948 Fan H-Y 2001 Phys. Lett. A 286 81 Fan H-Y and Ye X 1995 Phys. Rev. A 51 3343 Fan H-Y 2002 Phys. Rev. A 65 064102 Fan H-Y 2002 Phys. Lett. A 294 253
- [13] Campos R A, Saleh B E A and Teich M C 1989 Phys. Rev. A 50 5274
- [14] Silberhorn C et al 2001 Phys. Rev. Lett. 86 4267
- [15] Kim M S, Son W, Buzek V and Knight P L 2002 Phys. Rev. A 65 032323
- [16] Sudarshan E C G 1963 Phys. Rev. Lett. 10 277
- [17] Fan H-Y and Yang Y-L 2006 Eur. Phys. J. D 39 107
- [18] See e.g. Schleich W P 2001 Quantum Optics in Phase Space 1st edn (Berlin: Wiley-VCH)
- [19] For a review, see Fan H-Y 2003 J. Opt. B: Quantum Semiclass. Opt. 5 R147 [20] Fan H-Y, Zaidi H R and Klauder J R 1987 Phys. Rev. D 35 1831 Fan H-Y 1990 Phys. Rev. A 41 1526
- [21] Marzlin K-P and Audretsch J U 1998 Phys. Rev. A 57 1333 Kok P and Braunstein S L 2000 Phys. Rev. A 61 42304 Atature M et al 2002 Phys. Rev. A 65 023808 Pittman T B, Jacobs B C and Franson J D 2002 Phys. Rev. A 66 042303 Yamamoto T, Tamaki K, Koashi M and Imoto N 2002 Phys. Rev. A 66 064301 Kim Y-H 2003 Phys. Rev. A 68 013804
- [22] Fan H-Y 2004 Int. J. Mod. Phys. B 18 1387
- [23] Preskill J 1998 Physics Lectures (Pasadena, CA: California Institute of Technology) p 229
- [24] Horodecki M, Horodecki P and Horodecki R 1996 Phys. Lett. A 223 1
- [25] See e.g., Loudon R and Knight P L 1987 J. Mod. Opt. 34 709 D'Ariano G M, Rassetti M G, Katriel J and Solomon A I 1989 Squeezed and Nonclassical Light ed P Tombesi and E R Pike (New York: Plenum) p 301 Bûzek V 1990 J. Mod. Opt. 37 303

For a very recent review, see Dodonov V V 2002 J. Opt. B: Quantum Semiclass. Opt. 4 R1